Start Date	End Date	WECM#	COURSE	LOCATION	NO. OF STDNTS	NO. OF HOURS	STDNT CONT HOURS
			D: ACADEMY, CCISD, etc.				
09/04/12		NURA 1001	Nurse Aide Training	Eagle Pass	14	115	1610
09/04/12		EMSP1001	EMT/EPISD	Eagle Pass	17	270	4590
09/04/12	09/27/12		Water Aerobics	Uvalde	19	15	
09/05/12	09/07/12	CJSA 1001	Field Training Officer Course	Uvalde	12	24	288
09/08/12	09/08/12	EMSP 1019	CPR for Healthcare Provider	Eagle Pass	20	8	160
09/10/12	09/27/12		Professional Truck Driver	Eagle Pass	7	160	1120
09/13/12			Nurse Aide Training/ISD	Dilley	8	200	1600
09/14/12	09/14/12		Forklift Operator Certification	Del Rio	10	7	70
09/15/12	09/15/12	EMSP 1019	CPR for Healthcare Provider	Eagle Pass	10	8	80
09/18/12	09/27/12		Cake Decorating I	Eagle Pass	12	12	
09/22/12	11/17/12	FITT 1037	Personal Training	Uvalde	9	64	576
09/24/12	10/11/12		Professional Truck Driver	Eagle Pass	9	160	1440
09/28/12	09/28/12	CNSE 1003	Forklift Operator Certification	Del Rio	8	7	56
09/28/12	09/30/12	CJLE 1034	Standardized Field Sobriety Test	Eagle Pass	3	24	72
10/01/12	12/10/12	PLAB 1023	Phlebotomy Technician	Eagle Pass	13	104	1352
10/01/12	10/31/12		Water Aerobics	Uvalde	17	19	
10/02/12	10/09/12	BUSG 1005	Customer Service	Del Rio	10	9	90
10/02/12	01/17/13	MDCA1000	Clinical Medical Assistant	Uvalde	22	294	6468
10/08/12	10/25/12	CVOP 1013	Professional Truck Driver	Eagle Pass	11	160	1760
10/08/12	10/12/12	CJLE 2247	Tactical Skills for Police	Uvalde	25	60	1500
10/10/12	10/10/12	CJLE 2000	Advance Human Trafficking	Uvalde	49	8	392
10/13/12	10/13/12		Leadership(Ropes) Course	Uvalde	6	5	
10/15/12	10/19/12	CJLE 2247	Tactical Skills for Police	Del Rio	21	60	1260
10/15/12	12/21/12		Construction Technology	Eagle Pass	7	400	
10/16/12	11/01/12	FCTR 1015	Fundamentals of Cake Deco.	Eagle Pass	13	18	234
10/19/12	10/19/12	EMSP1020	CPR/Construction	Eagle Pass	7	8	56
10/19/12	10/21/12	CJLE 1034	Standardized Field Sobriety Test	Uvalde	3	24	72
10/22/12	11/08/12	CVOP 1013	Professional Truck Driver	Eagle Pass	12	160	1920
10/26/12	10/26/12		CPR for Healthcare Provider	Hondo	7	4	
10/27/12	01/12/13	PLAB 1023	Phlebotomy Technician	Hondo	15	104	1560
10/29/12	10/31/12	ITSC 1004	MS Excel/Housing	Eagle Pass	11	8	88
11/01/12	11/29/12		Water Aerobics	Uvalde	14	15	
11/05/12	11/21/12	CVOP 1013	Professional Truck Driver	Eagle Pass	7	160	1120
11/19/12	12/06/12	CVOP 1013	Professional Truck Driver	Eagle Pass	10	160	1600
11/19/12	11/19/12	CJLE 2000	Advance Human Trafficking	Eagle Pass	57	8	456
11/20/12	11/20/12	CJLE 1003	Police Speed Measuring Device	Uvalde	21	8	168
11/27/12	12/06/12		Cake Decorating II	Eagle Pass	12	12	
11/29/12	11/29/12		Arrest, Search and Seizure	Uvalde	33	4	
11/30/12	11/30/12		Arrest, Search and Seizure	Uvalde	8	4	
QU	ARTER TO	TAL OF STU	DENTS, CONTACT HOURS AND RE	VENUE	569	2,890	31,758
Start Date	End Date	WECM #	COURSE	LOCATION	NO. OF STDNTS	NO. OF HOURS	STDNT CONT HOURS
12/03/12	12/13/12		Water Aerobics	Uvalde	10	8	

12/03/12	12/20/12	CVOP 1013	Professional Truck Driver	Eagle Pass	6	160	960
12/10/12	12/10/12		Legislative Session Update/am	Uvalde	19	4	
12/10/12	12/10/12		Legislative Session Update/pm	Uvalde	16	4	
12/14/12	12/14/12	EMSP1020	CPR/Adult-Mav. Aggregates	Eagle Pass	5	8	40
12/19/12	12/19/12		Anger Management	Eagle Pass	10	8	
01/07/13	06/05/13	NURA 1001	Nurse Aide Training/ISD	Eagle Pass	28	200	5600
01/07/13	01/24/13	CVOP 1013	Professional Truck Driver	Eagle Pass	9	160	1440
01/07/13	01/24/13	CVOP 1013	TD/Refresher	Eagle Pass	1	60	60
01/07/13	01/07/13		Forklift Operator Certification	Del Rio	5	5	
01/08/13	01/08/13		Forklift Operator Certification	Del Rio	5	5	
01/09/13	01/09/13		Forklift Operator Certification	Del Rio	5	5	
01/10/13	01/10/13		Forklift Operator Certification	Del Rio	5	5	
01/11/13	01/11/13		Forklift Operator Certification	Del Rio	5	5	
01/14/13	01/31/13		Water Aerobics	Uvalde	9	12	
01/15/13	05/08/13		Tsunami Swim Training	Uvalde	12	48	
01/21/13	02/07/13	CVOP 1013	Professional Truck Driver	Eagle Pass	8	160	1280
01/21/13	06/05/13		Basic Health Profession/ISD	Crystal City	4	96	384
01/21/13	06/05/13	NURA 1001	Nurse Aide Training/ISD	Crystal City	11	200	2200
01/28/13	05/31/13	CJLE 1012	Basic Peace Officer I - IV	Uvalde	32	700	22400
01/28/13	12/05/13	CJLE 1012	Basic Peace Officer I - IV	Eagle Pass	36	700	25200
01/29/13	02/14/13	FCTR 1015	Fundamentals of Cake Deco.	Eagle Pass	12	18	216
02/01/13	05/31/13		Beginner Swim Training	Uvalde	12	48	
02/01/13	02/01/13	BMGT 1020	Team Building in the Workplace	Eagle Pass	6	8	48
02/02/13	02/02/13	CDEC 1051	Child Dev. For Providers - MRG	Uvalde	136	7	952
02/04/13	02/28/13		Water Aerobics	Uvalde	6	16	
02/04/13	02/21/13	CVOP 1013	Professional Truck Driver	Eagle Pass	7	160	1120
02/04/13	04/12/13		Construction Technology	Eagle Pass	5	360	
02/11/13	02/15/13		Tactical Skills for Police	Eagle Pass	16	60	960
02/13/13	02/13/13		CPR/Construction	Eagle Pass	4	8	32
02/18/13	04/29/13	PLAB 1023	Phlebotomy Technician	Del Rio	14	104	1456
02/18/13	04/08/13		Nurse Aide Training	Eagle Pass	12	115	1380
02/18/13	03/07/13		Professional Truck Driver	Eagle Pass	6	160	960
		CJLE 1040	Special Investigative Topics	Uvalde	55	8	440
02/25/13	02/25/13		Special Investigative Topics	Uvalde	3	8	24
02/25/13		LNWK 1091	Lineman Training Program	Uvalde	6	400	2400
02/26/13	02/16/14		Profess dev. pol.Sci/Adv.human Traf	Uvalde	56	8	448
02/26/13	02/16/14		Profess dev. pol.Sci/Adv.human Traf	Uvalde	1	8	8
02/27/13		FCTR 1015	Fundamentals of Cake Deco.	Eagle Pass	12	18	216
QU.	ARTER TO	TAL OF STU	DENTS, CONTACT HOURS AND RE	VENUE	610	4,067	70,224
0.					NC CT	No. o.	STDNT
Start	End	VALEONA #	COURCE	LOCATION	NO. OF	NO. OF	CONT
Date	Date	WECM #	COURSE Professional Truck Driver	LOCATION Eagle Page	STDNTS	HOURS	HOURS
03/04/13	03/21/13		Professional Truck Driver	Eagle Pass	6	160	960
03/07/13	03/07/13		CPR for Healthcare Provider CPR for Healthcare Provider	Uvalde Fagle Bass	19	8 8	152 112
			Professional Truck Driver	Eagle Pass	14		
03/18/13	04/04/13	CJLE 1030		Eagle Pass Uvalde	6 29	160 40	960 1160
	03/22/13	CJLE 1030	New Supervisors Course	Uvalde			
03/25/13	03/28/13		Int. Crime Scene search Investig.		12	32	32
03/25/13	03/28/13	CJLE 1045	Int. Crime Scene search Investig.	Uvalde	13	32	416

03/26/13 05/28/13 PLAB 1023 Phlebotomy Technician Uvalde	31	104	3224
03/28/13 07/23/13 MDCA1000 Clinical Medical Assistant Eagle Pass	26	310	8060
04/01/13 04/18/13 CVOP 1013 Professional Truck Driver Eagle Pass	8	160	1280
04/02/13 04/18/13 FCTR1015 Fundamentals of Cake Deco. Eagle Pass	11	18	198
04/06/13 06/08/13 FITT 1037 Personal Training Uvalde	11	64	704
04/08/13 04/08/13 Combined Asset Forft./Racial profing Uvalde	2	4	
04/08/13 04/08/13 Combined Asset Forft./Racial profing Uvalde	15	4	
04/08/13 04/08/13 Combined Asset Forft./Racial profing Uvalde	8	4	
04/13/13 04/13/13 EMSP 1019 CPR for Healthcare Provider Del Rio	4	8	32
04/15/13 05/02/13 CVOP 1013 Professional Truck Driver Eagle Pass	8	160	1280
04/18/13 04/19/13 CJLE 2000 Criminal Justice/Police Science Uvalde	17	16	272
04/22/13 04/22/13 CJLE 1020	42	8	336
04/23/13 04/23/13 State & Federal Law Updates/am Uvalde	29	4	
04/23/13 04/23/13 State & Federal Law Updates/pm Uvalde	18	4	
04/23/13 04/23/13 State & Federal Law Updates/pm Uvalde	2	4	
04/29/13 05/16/13 CVOP 1013 Professional Truck Driver Eagle Pass	9	160	1440
05/06/13 05/25/13 FITT 1045 Lifeguard Uvalde	13	48	624
05/06/13 05/25/13 EMSP 1026 CPR/Lifeguard Uvalde	13	8	104
05/07/13	12	12	
05/13/13 05/24/13 CVOP 1013 Profess. Truck Driver/Lineman Uvalde	6	160	960
05/20/13 10/18/13 COMG1003 College Prep Course Del Rio	12	60	720
05/27/13 06/13/13 CVOP 1013 Professional Truck Driver Eagle Pass	9	160	1440
05/28/13 08/0813 Tsunami Swim Training/advanced Uvalde	11	33	
05/28/13 08/0813 Beginner Swim Training Uvalde	18	33	
	423	1,986	24,466
			STDNT
	NO. OF	NO. OF	CONT
Date Date WECM # COURSE LOCATION ST	NO. OF		CONT HOURS
Date Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio	TDNTS 11	HOURS 8	CONT HOURS 88
Date Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde	TDNTS 11 20	8 8	CONT HOURS 88 160
Date Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass	11 20 9	8 8 160	CONT HOURS 88
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/27/13 Fun Fitness Fundamentals Uvalde	TDNTS 11 20	8 8 160 32	CONT HOURS 88 160
Date Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/27/13 Fun Fitness Fundamentals Uvalde 06/22/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass	11 20 9 24 11	8 8 160 32 8	CONT HOURS 88 160 1440
Date Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/27/13 Fun Fitness Fundamentals Uvalde 06/22/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass	11 20 9 24 11 5	8 8 160 32 8 160	CONT HOURS 88 160 1440 88 800
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/27/13 Fun Fitness Fundamentals Uvalde 06/22/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass	11 20 9 24 11 5	8 8 160 32 8 160 115	88 160 1440 88 800 1610
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/27/13 Fun Fitness Fundamentals Uvalde 06/22/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass	11 20 9 24 11 5 14 13	8 8 160 32 8 160 115 238	88 160 1440 88 800 1610 3094
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/22/13 06/22/13 EMSP 1019 Professional Truck Driver Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass 06/25/13 12/13/13 MDCA1000 Clinical Medical Assistant Del Rio	11 20 9 24 11 5 14 13 21	8 8 160 32 8 160 115 238 310	88 160 1440 88 800 1610 3094 6510
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/22/13 06/22/13 EMSP 1019 Professional Truck Driver Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass 06/25/13 12/13/13 MDCA1000 Clinical Medical Assistant Del Rio 07/08/13 07/25/13 CVOP 1013 Professional Truck Driver Eagle Pass	11 20 9 24 11 5 14 13	8 8 160 32 8 160 115 238	88 160 1440 88 800 1610 3094
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass 06/25/13 12/13/13 MDCA1000 Clinical Medical Assistant Del Rio 07/08/13 07/25/13 CVOP 1013 Professional Truck Driver Eagle Pass 07/08/13 07/10/13 Dev., Management & Control Uvalde	11 20 9 24 11 5 14 13 21 7 33	8 8 160 32 8 160 115 238 310 160 24	88 160 1440 88 800 1610 3094 6510
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/27/13 Fun Fitness Fundamentals Uvalde 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass 06/25/13 12/13/13 MDCA1000 Clinical Medical Assistant Del Rio 07/08/13 07/25/13 CVOP 1013 Professional Truck Driver Eagle Pass 07/08/13 07/10/13 Dev., Management & Control Uvalde 07/08/13 07/18/13 Fun Fitness Fundamentals Uvalde <td>11 20 9 24 11 5 14 13 21 7</td> <td>8 8 160 32 8 160 115 238 310 160</td> <td>88 160 1440 88 800 1610 3094 6510 1120</td>	11 20 9 24 11 5 14 13 21 7	8 8 160 32 8 160 115 238 310 160	88 160 1440 88 800 1610 3094 6510 1120
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/27/13 Fun Fitness Fundamentals Uvalde 06/22/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass 06/25/13 12/13/13 MDCA1000 Clinical Medical Assistant Del Rio 07/08/13 07/25/13 CVOP 1013 Professional Truck Driver Eagle Pass 07/08/13 07/10/13 Dev., Management & Control Uvalde 07/02/13 08/08/13 CVOP 1013 Professional Tr	11 20 9 24 11 5 14 13 21 7 33	8 8 160 32 8 160 115 238 310 160 24	88 160 1440 88 800 1610 3094 6510
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 66/27/13 Fun Fitness Fundamentals Uvalde 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass 06/25/13 12/13/13 MDCA1000 Clinical Medical Assistant Del Rio 07/08/13 07/25/13 CVOP 1013 Professional Truck Driver Eagle Pass 07/08/13 07/10/13 Dev., Management & Control Uvalde 07/22/13 08/08/13 CVOP 1013 Professional Truck Driver <t< td=""><td>11 20 9 24 11 5 14 13 21 7 33 22 7 1</td><td>8 8 160 32 8 160 115 238 310 160 24 32 160 110</td><td>88 160 1440 88 800 1610 3094 6510 1120 1120</td></t<>	11 20 9 24 11 5 14 13 21 7 33 22 7 1	8 8 160 32 8 160 115 238 310 160 24 32 160 110	88 160 1440 88 800 1610 3094 6510 1120 1120
Date Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/22/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass 06/25/13 12/13/13 MDCA1000 Clinical Medical Assistant Del Rio 07/08/13 07/25/13 CVOP 1013 Professional Truck Driver Eagle Pass 07/08/13 07/10/13 Professional Truck Driver Eagle Pass 07/22/13 08/08/13<	11 20 9 24 11 5 14 13 21 7 33 22 7 1 2	8 8 160 32 8 160 115 238 310 160 24 32 160	88 160 1440 88 800 1610 3094 6510 1120 1120 110 320
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/27/13 Fun Fitness Fundamentals Uvalde 06/22/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass 06/25/13 12/13/13 MDCA1000 Clinical Medical Assistant Del Rio 07/08/13 07/25/13 CVOP 1013 Professional Truck Driver Eagle Pass 07/08/13 07/10/13 Dev., Management & Control Uvalde 07/22/13 08/08/13 CVOP 1013 Professional Tr	11 20 9 24 11 5 14 13 21 7 33 22 7 1	8 8 160 32 8 160 115 238 310 160 24 32 160 110	88 160 1440 88 800 1610 3094 6510 1120 1120
Date Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/22/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass 06/25/13 12/13/13 MDCA1000 Clinical Medical Assistant Del Rio 07/08/13 07/25/13 CVOP 1013 Professional Truck Driver Eagle Pass 07/08/13 07/10/13 Professional Truck Driver Eagle Pass 07/22/13 08/08/13<	11 20 9 24 11 5 14 13 21 7 33 22 7 1 2	8 8 160 32 8 160 115 238 310 160 24 32 160 110 160	88 160 1440 88 800 1610 3094 6510 1120 1120 110 320
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/27/13 Fun Fitness Fundamentals Uvalde 06/22/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass 06/25/13 12/13/13 MDCA1000 Clinical Medical Assistant Del Rio 07/08/13 07/25/13 CVOP 1013 Professional Truck Driver Eagle Pass 07/08/13 07/10/13 Dev., Management & Control Uvalde 07/22/13 08/08/13 CVOP 1013 Professional Tr	11 20 9 24 11 5 14 13 21 7 33 22 7 1 2 26	8 8 160 32 8 160 115 238 310 160 24 32 160 110 160 700	88 160 1440 88 800 1610 3094 6510 1120 1120 110 320 18200
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/27/13 Fun Fitness Fundamentals Uvalde 06/22/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass 06/25/13 12/13/13 MDCA1000 Clinical Medical Assistant Del Rio 07/08/13 07/25/13 CVOP 1013 Professional Truck Driver Eagle Pass 07/08/13 07/10/13 Dev., Management & Control Uvalde 07/22/13 08/08/13 CVOP 1013 Professional Tr	11 20 9 24 11 5 14 13 21 7 33 22 7 1 2 26 9	8 8 160 32 8 160 115 238 310 160 24 32 160 110 160 700 160	88 160 1440 88 800 1610 3094 6510 1120 1120 110 320 18200 1440
Date WECM # COURSE LOCATION ST 06/01/13 06/01/13 EMSP 1019 CPR for Healthcare Provider Del Rio 06/10/13 06/10/13 PSYT 1035 Critical Incident Stress Mgmt. Tr. Uvalde 06/10/13 06/27/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/17/13 06/27/13 Fun Fitness Fundamentals Uvalde 06/22/13 06/22/13 EMSP 1019 CPR for Healthcare Provider Eagle Pass 06/24/13 07/11/13 CVOP 1013 Professional Truck Driver Eagle Pass 06/24/13 07/17/13 NURA 1001 Nurse Aide Training Eagle Pass 06/25/13 11/30/13 EMSP1001 Emergency Medical Tech/EMT Eagle Pass 06/25/13 12/13/13 MDCA1000 Clinical Medical Assistant Del Rio 07/08/13 07/25/13 CVOP 1013 Professional Truck Driver Eagle Pass 07/08/13 07/10/13 Dev., Management & Control Uvalde 07/08/13 08/08/13 CVOP 1013 Professional Tr	11 20 9 24 11 5 14 13 21 7 33 22 7 1 2 26 9 10	8 8 160 32 8 160 115 238 310 160 24 32 160 110 160 700 160 8	88 160 1440 88 800 1610 3094 6510 1120 1120 110 320 18200 1440 80

QUARTER TOTAL OF STUDENTS, CONTACT HOURS AND REVENUE	281	2,849	41,196
YEARLY TOTAL OF STUDENTS, CONTACT HOURS AND REVENUE	1,883	11,792	167,644

Start Date	End Date	WECM#	COURSE	LOCATION	NO. OF STDNTS	NO. OF HOURS	STDNT CONT HOURS
			D: ACADEMY, CCISD, etc.				
09/02/13		CVOP 1013	Professional Truck Driver	Eagle Pass	5	160	800
09/03/13		NURA 1001	CNA/Dilley ISD	Dilley	4	200	800
09/07/13	09/07/13		Child Development for Providers	Uvalde	91	7	637
09/16/13	10/03/13	CVOP 1013	Professional Truck Driver	Eagle Pass	4	160	640
09/16/13	06/04/14	EMSP1001	EMT/EPISD	Eagle Pass	14	450	6300
09/17/13	09/19/13	CJLE 2031	Patrol Tactical Procedure	Uvalde	34	20	680
09/30/13	10/17/13	CVOP 1013	Professional Truck Driver	Eagle Pass	3	160	480
10/01/13	12/15/13	NURA 1001	Nurse Aide Training	Eagle Pass	8	130	1040
10/07/13	12/13/13		Construction Technology	Eagle Pass	9	400	
10/14/13	10/31/13		Professional Truck Driver	Eagle Pass	10	160	1600
10/15/13	10/15/13	EMSP 1020	CPR/Construction	Eagle Pass	9	8	72
10/19/13	02/07/13	MDCA1000	Clinical Medical Assistant	Hondo	7	310	2170
10/25/13	10/25/13	CNSE 1003	Forklift Operator Certification	Eagle Pass	5	8	40
10/28/13	11/14/13	CVOP 1013	Professional Truck Driver	Eagle Pass	7	160	1120
11/11/13	11/15/13	CJLE 2047	Tactical Skills for Police/SWAT	Uvalde	19	60	1140
11/11/13	11/28/13	CVOP 1013	Professional Truck Driver	Eagle Pass	1	160	160
11/11/13	12/13/13	CVOP 1013	Professional Truck Driver	Eagle Pass	7	160	1120
11/18/13	11/22/13	CJLE 2047	Tactical Skills for Police/SWAT	Del Rio	21	60	1260
		CVOP 1013	Professional Truck Driver	Eagle Pass	12	160	1920
QU.	ARTER TO	TAL OF STU	DENTS, CONTACT HOURS AND RE	VENUE	270	2,933	21,979
Start	End	MECM #	COURSE	LOCATION	NO. OF	NO. OF	STDNT
Date	Date	WECM #	COURSE Forblitt Operator Contification	LOCATION	STDNTS	HOURS	CONT HOURS
Date 12/02/13	Date 12/02/13	CNSE 1003	Forklift Operator Certification	Del Rio	STDNTS 4	HOURS 7	CONT HOURS 28
Date 12/02/13 12/03/13	Date 12/02/13 12/03/13	CNSE 1003 CNSE 1003	Forklift Operator Certification Forklift Operator Certification	Del Rio Del Rio	STDNTS 4 4	HOURS 7 7	CONT HOURS 28 28
Date 12/02/13 12/03/13 12/04/13	Date 12/02/13 12/03/13 12/04/13	CNSE 1003 CNSE 1003 CNSE 1003	Forklift Operator Certification Forklift Operator Certification Forklift Operator Certification	Del Rio Del Rio Del Rio	4 4 2	7 7 7	28 28 14
Date 12/02/13 12/03/13 12/04/13 12/05/13	Date 12/02/13 12/03/13 12/04/13 12/05/13	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003	Forklift Operator Certification Forklift Operator Certification Forklift Operator Certification Forklift Operator Certification	Del Rio Del Rio Del Rio Del Rio	4 4 2 2	7 7 7 7	28 28 14 14
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003	Forklift Operator Certification	Del Rio Del Rio Del Rio Del Rio Del Rio Del Rio	4 4 2 2 1	7 7 7 7 7	28 28 14 14 7
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CJLE 1042	Forklift Operator Certification State & Federal Law Updates/am	Del Rio Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde	4 4 2 2 1 16	7 7 7 7 7 7 4	28 28 14 14 7 64
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CJLE 1042 CJLE 1042	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde	4 4 2 2 1 16 8	7 7 7 7 7 7 4 4	28 28 14 14 7 64 32
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/09/13	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CJLE 1042 CJLE 1042 CJLE 1042	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/am	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde	4 4 2 2 1 16 8 1	7 7 7 7 7 7 4 4	28 28 14 14 7 64 32
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/09/13 12/10/13	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/09/13 12/12/13	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1004 CJLE 1042 CJLE 1042 ITSC 1004	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/am Software App. skills upgrade	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde Eagle Pass	4 4 2 2 1 16 8 1	7 7 7 7 7 7 4 4 4 9	28 28 14 14 7 64 32 4 63
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/12/13 12/12/13	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CJLE 1042 CJLE 1042 CJLE 1042 ITSC 1004 CJLE 2000	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/am Software App. skills upgrade Advance Human Trafficking	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde Eagle Pass Uvalde	4 4 2 2 1 16 8 1 7	7 7 7 7 7 7 4 4 4 9 8	28 28 14 14 7 64 32 4 63 8
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 12/10/13	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/12/13 12/10/13 12/10/13	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CJLE 1042 CJLE 1042 ITSC 1004 CJLE 2000 CJLE 2000	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/am Software App. skills upgrade Advance Human Trafficking Advance Human Trafficking	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde Eagle Pass Uvalde Uvalde	4 4 2 2 1 16 8 1 7 1	7 7 7 7 7 4 4 4 9 8 8	28 28 14 14 7 64 32 4 63 8 96
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 12/10/13 12/10/13	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/12/13 12/10/13 12/10/13 01/17/14	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CJLE 1042 CJLE 1042 ITSC 1004 CJLE 2000 CJLE 2000 NURA 1001	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/pm State & Federal Law Updates/am Software App. skills upgrade Advance Human Trafficking Advance Human Trafficking CNA/Nursing Home	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde Eagle Pass Uvalde Uvalde Eagle Pass	4 4 2 2 1 16 8 1 7 1 12	7 7 7 7 7 4 4 4 9 8 8	CONT HOURS 28 28 14 14 7 64 32 4 63 8 96 1430
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 12/10/13 12/10/13 12/10/13	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/12/13 12/10/13 12/10/13 01/17/14 12/17/13	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CJLE 1042 CJLE 1042 ITSC 1004 CJLE 2000 CJLE 2000 NURA 1001 EMSP 1019	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/pm State & Federal Law Updates/am Software App. skills upgrade Advance Human Trafficking Advance Human Trafficking CNA/Nursing Home CPR for Healthcare Provider	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde Eagle Pass Uvalde Uvalde Eagle Pass	4 4 2 2 1 16 8 1 7 1 12 11	7 7 7 7 7 4 4 4 9 8 8 130 8	28 28 14 14 7 64 32 4 63 8 96 1430 88
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 12/10/13 12/10/13 12/10/13 12/10/13 01/06/14	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 01/17/14 12/17/13 01/23/14	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CJLE 1042 CJLE 1042 ITSC 1004 CJLE 2000 CJLE 2000 NURA 1001 EMSP 1019 CVOP 1013	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/am Software App. skills upgrade Advance Human Trafficking Advance Human Trafficking CNA/Nursing Home CPR for Healthcare Provider Professional Truck Driver	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde Eagle Pass Uvalde Uvalde Eagle Pass Eagle Pass	4 4 2 2 1 16 8 1 7 1 12 11 11 9	7 7 7 7 7 4 4 4 9 8 8 130 8	CONT HOURS 28 28 14 14 7 64 32 4 63 8 96 1430 88 1440
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 12/10/13 12/10/13 12/17/13 01/06/14 01/06/14	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/12/13 12/10/13 12/10/13 01/17/14 12/17/13 01/23/14 01/06/14	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CJLE 1042 CJLE 1042 ITSC 1004 CJLE 2000 CJLE 2000 NURA 1001 EMSP 1019 CVOP 1013 CJLE 2011	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/am Software App. skills upgrade Advance Human Trafficking Advance Human Trafficking CNA/Nursing Home CPR for Healthcare Provider Professional Truck Driver Intermediate Police Rep. writing	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde Eagle Pass Uvalde Eagle Pass Eagle Pass Eagle Pass	4 4 2 2 1 16 8 1 7 1 12 11 11 9 9	7 7 7 7 7 4 4 4 9 8 130 8 160 8	CONT HOURS 28 28 14 14 7 64 32 4 63 8 96 1430 88 1440 72
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 12/10/13 12/10/13 12/17/13 01/06/14 01/06/14	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/12/13 12/10/13 12/10/13 01/17/14 12/17/13 01/23/14 01/06/14	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1004 CJLE 1042 CJLE 1042 ITSC 1004 CJLE 2000 CJLE 2000 NURA 1001 EMSP 1019 CVOP 1013 CJLE 2011 NURA 1001	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/pm State & Federal Law Updates/am Software App. skills upgrade Advance Human Trafficking Advance Human Trafficking CNA/Nursing Home CPR for Healthcare Provider Professional Truck Driver Intermediate Police Rep. writing CNA/EPISD	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Eagle Pass Eagle Pass Eagle Pass	4 4 2 2 1 16 8 1 7 1 12 11 11 9 9 20	7 7 7 7 7 4 4 4 9 8 130 8 160 8 200	CONT HOURS 28 28 14 14 7 64 32 4 63 8 96 1430 88 1440 72 4000
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 12/10/13 12/10/13 12/17/13 01/06/14 01/06/14 01/06/14	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/12/13 12/10/13 12/10/13 01/17/14 12/17/13 01/23/14 01/06/14 06/04/14 01/06/14	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1004 CJLE 1042 CJLE 1042 ITSC 1004 CJLE 2000 CJLE 2000 NURA 1001 EMSP 1019 CVOP 1013 CJLE 2011 NURA 1001 CNSE 1003	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/am Software App. skills upgrade Advance Human Trafficking Advance Human Trafficking CNA/Nursing Home CPR for Healthcare Provider Professional Truck Driver Intermediate Police Rep. writing CNA/EPISD Forklift Operator Certification	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde Eagle Pass Uvalde Eagle Pass Eagle Pass Eagle Pass Eagle Pass Eagle Pass Del Rio	4 4 2 2 1 16 8 1 7 1 12 11 9 9 20 6	7 7 7 7 7 4 4 4 9 8 8 130 8 160 8 200 7	CONT HOURS 28 28 14 14 7 64 32 4 63 8 96 1430 88 1440 72 4000 42
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 12/10/13 12/10/13 12/17/13 01/06/14 01/06/14 01/06/14	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 12/10/13 01/17/14 12/17/13 01/23/14 01/06/14 01/06/14 01/07/14	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CJLE 1042 CJLE 1042 ITSC 1004 CJLE 2000 CJLE 2000 NURA 1001 EMSP 1019 CVOP 1013 CJLE 2011 NURA 1001 CNSE 1003 CNSE 1003	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/am Software App. skills upgrade Advance Human Trafficking Advance Human Trafficking CNA/Nursing Home CPR for Healthcare Provider Professional Truck Driver Intermediate Police Rep. writing CNA/EPISD Forklift Operator Certification Forklift Operator Certification	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde Eagle Pass Uvalde Eagle Pass Eagle Pass Eagle Pass Eagle Pass Duvalde Eagle Pass Eagle Pass Duvalde	4 4 2 2 1 16 8 1 7 1 12 11 11 9 9 20 6 2	7 7 7 7 7 4 4 4 9 8 130 8 160 8 200 7	CONT HOURS 28 28 14 14 7 64 32 4 63 8 96 1430 88 1440 72 4000 42 14
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 12/10/13 12/10/13 12/16/13 12/17/13 01/06/14 01/06/14 01/06/14 01/07/14 01/08/14	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/12/13 12/10/13 12/10/13 01/17/14 12/17/13 01/23/14 01/06/14 01/06/14 01/07/14 01/08/14	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1004 CJLE 1042 ITSC 1004 CJLE 2000 CJLE 2000 NURA 1001 EMSP 1019 CVOP 1013 CJLE 2011 NURA 1001 CNSE 1003 CNSE 1003 CNSE 1003	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/am Software App. skills upgrade Advance Human Trafficking Advance Human Trafficking CNA/Nursing Home CPR for Healthcare Provider Professional Truck Driver Intermediate Police Rep. writing CNA/EPISD Forklift Operator Certification Forklift Operator Certification	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde Eagle Pass Uvalde Eagle Pass Eagle Pass Eagle Pass Eagle Pass Duvalde Eagle Pass Eagle Pass Eagle Pass Del Rio Del Rio	4 4 2 2 1 16 8 1 7 1 12 11 11 9 9 20 6 2 6	7 7 7 7 7 4 4 4 9 8 8 130 8 160 8 200 7 7	CONT HOURS 28 28 14 14 7 64 32 4 63 8 96 1430 88 1440 72 4000 42 14 42
Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 12/10/13 12/10/13 12/10/13 01/06/14 01/06/14 01/06/14	Date 12/02/13 12/03/13 12/04/13 12/05/13 12/06/13 12/09/13 12/09/13 12/10/13 12/10/13 12/10/13 01/17/14 12/17/13 01/23/14 01/06/14 01/06/14 01/07/14	CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CNSE 1003 CJLE 1042 CJLE 1042 ITSC 1004 CJLE 2000 CJLE 2000 NURA 1001 EMSP 1019 CVOP 1013 CJLE 2011 NURA 1001 CNSE 1003 CNSE 1003	Forklift Operator Certification State & Federal Law Updates/am State & Federal Law Updates/pm State & Federal Law Updates/am Software App. skills upgrade Advance Human Trafficking Advance Human Trafficking CNA/Nursing Home CPR for Healthcare Provider Professional Truck Driver Intermediate Police Rep. writing CNA/EPISD Forklift Operator Certification Forklift Operator Certification	Del Rio Del Rio Del Rio Del Rio Del Rio Uvalde Uvalde Uvalde Eagle Pass Uvalde Eagle Pass Eagle Pass Eagle Pass Eagle Pass Duvalde Eagle Pass Eagle Pass Duvalde	4 4 2 2 1 16 8 1 7 1 12 11 11 9 9 20 6 2	7 7 7 7 7 4 4 4 9 8 130 8 160 8 200 7	CONT HOURS 28 28 14 14 7 64 32 4 63 8 96 1430 88 1440 72 4000 42 14

101/13/14	03/21/14		Construction Technology	Eagle Pass	9	400	
01/15/14	01/15/14	EMSP 1020	CPR/Construction	Eagle Pass	9	8	72
01/20/14	02/06/14	CVOP 1013	Professional Truck Driver	Eagle Pass	9	160	1440
01/21/14	06/06/14	NURA 1001	CNA/CCISD	Crystal City	12	200	2400
01/21/14	06/06/14	HPRS 1004	Basic Health Profession Skills	Crystal City	13	96	1248
01/23/14	05/29/14		Tsunami Swim Training/advanced	Uvalde	15	48	
01/23/14	05/29/14		Beginner Swim Training	Uvalde	13	48	
01/27/14	03/27/14	CJLE 1006	Basic Peace Officer I	Eagle Pass	19	155	2945
01/27/14	03/17/14	CJLE 1006	Basic Peace Officer I, II	Uvalde	31	310	9610
01/29/14	01/31/14	CJSA 1001	Field Training Officer	Uvalde	14	24	336
02/03/14	02/20/14	CVOP 1013	Professional Truck Driver	Eagle Pass	7	160	1120
02/10/14	02/10/14	CJLE 1042	State & Federal Law Updates/am	Uvalde	25	4	100
02/10/14	02/10/14	CJLE 1042	State & Federal Law Updates/pm	Uvalde	30	4	120
02/11/14	02/27/14	FCTR 1015	Fundamentals of Cake Deco.	Eagle Pass	12	18	216
02/11/14	02/11/14		Prof. Dev. Police Science-AM	Uvalde	8	4	
02/11/14	02/11/14		Prof. Dev. Police Science-PM	Uvalde	5	4	
02/16/14	02/22/14	NURA 2000	Nurse Aide & Patient Care/uv hosp.	Uvalde	5	24	120
02/25/14	03/08/14	NURA 2000	Nurse Aide & Patient Care/uv hosp.	Uvalde	6	24	144
02/17/14	03/06/14	CVOP 1013	Professional Truck Driver	Eagle Pass	7	160	1120
02/18/14	02/18/14		Hazmat & Tanker	Eagle Pass	1	4	
02/18/14	02/18/14	CJLE 1042	State & Federal Law Updates/am	Carrizo	10	4	40
02/18/14	02/18/14	CJLE 1042	State & Federal Law Updates/pm	Carrizo	10	4	40
02/24/14	02/28/14	CJLE 1030	New Supervisors Course	Uvalde	20	40	800
QU	ARTER TO	TAL OF STU	DENTS, CONTACT HOURS AND RE	VENUE	432	2,516	29,427
							CTDNT
Start	End				NO OF	NO OF	STDNT
Start Date	End Date	WECM #	COURSE	LOCATION	NO. OF	NO. OF	CONT
Date	Date	WECM # CVOP 1013	COURSE Professional Truck Driver	LOCATION Eagle Pass	NO. OF STDNTS	HOURS	CONT HOURS
Date 03/03/14	Date 03/20/14	WECM # CVOP 1013	Professional Truck Driver	Eagle Pass	STDNTS 9	HOURS 160	CONT
Date 03/03/14 03/03/14	Date 03/20/14 03/03/14	CVOP 1013		Eagle Pass Eagle Pass	9 1	HOURS	CONT HOURS 1440
Date 03/03/14 03/03/14 03/12/14	Date 03/20/14 03/03/14 03/13/14	CVOP 1013 CJLE 1056	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force	Eagle Pass Eagle Pass Uvalde	9 1 23	160 4 16	CONT HOURS
Date 03/03/14 03/03/14 03/12/14 03/14/14	Date 03/20/14 03/03/14 03/13/14 03/14/14	CVOP 1013 CJLE 1056 CJLE 1042	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am	Eagle Pass Eagle Pass Uvalde Uvalde	9 1 23 20	160 4 16 4	CONT HOURS 1440 368 80
Date 03/03/14 03/03/14 03/12/14 03/14/14 03/17/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass	9 1 23 20 11	160 4 16 4 16 4	CONT HOURS 1440 368 80 1760
Date 03/03/14 03/03/14 03/12/14 03/14/14 03/17/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde	9 1 23 20 11 12	160 4 16 4 16 4 160 16	CONT HOURS 1440 368 80 1760 192
Date 03/03/14 03/03/14 03/12/14 03/14/14 03/17/14 03/17/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Uvalde	9 1 23 20 11 12 31	160 4 16 4 16 4 160 16 465	CONT HOURS 1440 368 80 1760
Date 03/03/14 03/03/14 03/12/14 03/14/14 03/17/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V Hazmat & Tanker	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde	9 1 23 20 11 12	160 4 16 4 16 4 160 16	CONT HOURS 1440 368 80 1760 192
Date 03/03/14 03/03/14 03/12/14 03/14/14 03/17/14 03/17/14 03/17/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049 CJLE 1006	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Uvalde Eagle Pass	9 1 23 20 11 12 31 2	160 4 16 4 160 160 16 465 4	CONT HOURS 1440 368 80 1760 192 14415
Date 03/03/14 03/03/14 03/12/14 03/14/14 03/17/14 03/17/14 03/18/14 03/18/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14 06/12/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049 CJLE 1006 WLDG 1021 MDCA1000	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V Hazmat & Tanker Welding Fundamentals	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Uvalde Eagle Pass Cotulla	9 1 23 20 11 12 31 2 13	160 4 16 4 160 16 465 4 117	368 80 1760 192 14415
Date 03/03/14 03/03/14 03/12/14 03/14/14 03/17/14 03/17/14 03/18/14 03/18/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14 06/12/14 07/17/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049 CJLE 1006 WLDG 1021 MDCA1000	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V Hazmat & Tanker Welding Fundamentals Clinical Medical Assistant	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Uvalde Eagle Pass Cotulla Uvalde	9 1 23 20 11 12 31 2 13 16	160 4 16 4 160 16 465 4 117 310	368 80 1760 192 14415 1521 4960
Date 03/03/14 03/03/14 03/12/14 03/14/14 03/17/14 03/17/14 03/18/14 03/18/14 03/24/14 03/31/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14 06/12/14 07/17/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049 CJLE 1006 WLDG 1021 MDCA1000 CVOP 1013	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V Hazmat & Tanker Welding Fundamentals Clinical Medical Assistant Professional Truck Driver	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Uvalde Eagle Pass Cotulla Uvalde Eagle Pass	9 1 23 20 11 12 31 2 13 16 3	HOURS 160 4 16 4 160 16 465 4 117 310 160	CONT HOURS 1440 368 80 1760 192 14415 1521 4960 480
Date 03/03/14 03/03/14 03/12/14 03/14/14 03/17/14 03/17/14 03/18/14 03/18/14 03/24/14 03/31/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14 06/12/14 07/17/14 04/17/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049 CJLE 1006 WLDG 1021 MDCA1000 CVOP 1013 CVOP 1013	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V Hazmat & Tanker Welding Fundamentals Clinical Medical Assistant Professional Truck Driver Professional Truck Driver	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Uvalde Eagle Pass Cotulla Uvalde Eagle Pass	9 1 23 20 11 12 31 2 13 16 3 3	HOURS 160 4 16 4 160 16 465 4 117 310 160 160	368 80 1760 192 14415 1521 4960 480
Date 03/03/14 03/03/14 03/12/14 03/14/14 03/17/14 03/17/14 03/18/14 03/18/14 03/24/14 03/31/14 03/31/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14 06/12/14 07/17/14 04/17/14 12/04/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049 CJLE 1006 WLDG 1021 MDCA1000 CVOP 1013 CVOP 1013	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V Hazmat & Tanker Welding Fundamentals Clinical Medical Assistant Professional Truck Driver Professional Truck Driver Basic Peace Officer II, III, IV, V	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Uvalde Eagle Pass Cotulla Uvalde Eagle Pass Hondo Eagle Pass	9 1 23 20 11 12 31 2 13 16 3 17	HOURS 160 4 16 4 160 16 465 4 117 310 160 160 620	368 80 1760 192 14415 1521 4960 480
Date 03/03/14 03/12/14 03/12/14 03/17/14 03/17/14 03/17/14 03/18/14 03/24/14 03/31/14 03/31/14 03/31/14 04/01/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14 06/12/14 07/17/14 04/17/14 12/04/14 04/01/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049 CJLE 1006 WLDG 1021 MDCA1000 CVOP 1013 CVOP 1013	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V Hazmat & Tanker Welding Fundamentals Clinical Medical Assistant Professional Truck Driver Professional Truck Driver Basic Peace Officer II, III, IV, V Combined Asset Forfeiture/am	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Uvalde Eagle Pass Cotulla Uvalde Eagle Pass Hondo Eagle Pass Uvalde	9 1 23 20 11 12 31 2 13 16 3 3 17 22	HOURS 160 4 16 4 160 16 465 4 117 310 160 160 620 4	368 80 1760 192 14415 1521 4960 480
Date 03/03/14 03/12/14 03/12/14 03/17/14 03/17/14 03/17/14 03/18/14 03/18/14 03/24/14 03/31/14 03/31/14 04/01/14 04/01/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14 06/12/14 07/17/14 04/17/14 12/04/14 04/01/14 04/01/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049 CJLE 1006 WLDG 1021 MDCA1000 CVOP 1013 CVOP 1013	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V Hazmat & Tanker Welding Fundamentals Clinical Medical Assistant Professional Truck Driver Professional Truck Driver Basic Peace Officer II, III, IV, V Combined Asset Forfeiture/am Combined Asset Forfeiture/pm	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Uvalde Eagle Pass Cotulla Uvalde Eagle Pass Cotulla Uvalde Eagle Pass Hondo Eagle Pass Uvalde	9 1 23 20 11 12 31 2 13 16 3 17 22 11	HOURS 160 4 16 4 160 16 465 4 117 310 160 620 4 4	368 80 1760 192 14415 1521 4960 480
Date 03/03/14 03/03/14 03/12/14 03/14/14 03/17/14 03/17/14 03/18/14 03/18/14 03/31/14 03/31/14 03/31/14 03/31/14 04/01/14 04/01/14	03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14 06/12/14 07/17/14 04/17/14 04/17/14 12/04/14 04/01/14 04/01/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049 CJLE 1006 WLDG 1021 MDCA1000 CVOP 1013 CVOP 1013 CJLE 1006	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V Hazmat & Tanker Welding Fundamentals Clinical Medical Assistant Professional Truck Driver Professional Truck Driver Basic Peace Officer II, III, IV, V Combined Asset Forfeiture/am Combined Asset Forfeiture/pm Identity Crimes/pm session	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Uvalde Eagle Pass Cotulla Uvalde Eagle Pass Hondo Eagle Pass Uvalde Uvalde Uvalde Uvalde Uvalde	9 1 23 20 11 12 31 2 13 16 3 17 22 11 10	HOURS 160 4 16 4 160 16 465 4 117 310 160 160 620 4 4	368 80 1760 192 14415 1521 4960 480
Date 03/03/14 03/12/14 03/12/14 03/17/14 03/17/14 03/17/14 03/18/14 03/24/14 03/31/14 03/31/14 04/01/14 04/02/14 04/02/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14 06/12/14 07/17/14 04/17/14 12/04/14 12/04/14 04/01/14 04/02/14 04/02/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049 CJLE 1006 WLDG 1021 MDCA1000 CVOP 1013 CVOP 1013 CJLE 1006	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V Hazmat & Tanker Welding Fundamentals Clinical Medical Assistant Professional Truck Driver Professional Truck Driver Basic Peace Officer II, III, IV, V Combined Asset Forfeiture/am Combined Asset Forfeiture/pm Identity Crimes/pm session	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Uvalde Eagle Pass Cotulla Uvalde Eagle Pass Hondo Eagle Pass Uvalde Uvalde Uvalde Uvalde Uvalde	9 1 23 20 11 12 31 2 13 16 3 3 17 22 11 10 26	HOURS 160 4 16 4 160 16 465 4 117 310 160 160 620 4 4 4	1440 368 80 1760 192 14415 1521 4960 480 10540
Date 03/03/14 03/03/14 03/12/14 03/12/14 03/17/14 03/17/14 03/18/14 03/18/14 03/31/14 03/31/14 03/31/14 04/01/14 04/02/14 04/02/14 04/02/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14 06/12/14 07/17/14 04/17/14 12/04/14 04/01/14 04/01/14 04/02/14 04/02/14 05/01/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049 CJLE 1006 WLDG 1021 MDCA1000 CVOP 1013 CVOP 1013 CJLE 1006	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V Hazmat & Tanker Welding Fundamentals Clinical Medical Assistant Professional Truck Driver Professional Truck Driver Basic Peace Officer II, III, IV, V Combined Asset Forfeiture/am Combined Asset Forfeiture/pm Identity Crimes/pm session Identity Crimes/am session Professional Truck Driver	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Uvalde Eagle Pass Cotulla Uvalde Eagle Pass Hondo Eagle Pass Uvalde Uvalde Uvalde Uvalde Uvalde	9 1 23 20 11 12 31 2 13 16 3 17 22 11 10 26 7	HOURS 160 4 16 4 160 16 465 4 117 310 160 620 4 4 4 4 160	CONT HOURS 1440 368 80 1760 192 14415 1521 4960 480 10540 1120
Date 03/03/14 03/03/14 03/12/14 03/12/14 03/17/14 03/17/14 03/18/14 03/18/14 03/24/14 03/31/14 03/31/14 03/31/14 04/01/14 04/01/14 04/02/14 04/02/14 04/14/14	Date 03/20/14 03/03/14 03/13/14 03/14/14 04/03/14 03/18/14 04/09/14 03/18/14 06/12/14 07/17/14 04/17/14 12/04/14 04/01/14 04/01/14 04/02/14 04/02/14 05/01/14 04/14/14	CVOP 1013 CJLE 1056 CJLE 1042 CVOP 1013 CJLE 1049 CJLE 1006 WLDG 1021 MDCA1000 CVOP 1013 CVOP 1013 CJLE 1006 CVOP 1013 CJLE 1006	Professional Truck Driver Hazmat & Tanker Intermediate Use of Force State & Federal Law Updates/am Professional Truck Driver Inter Arrest, search & seizure Basic Peace Officer III, IV, V Hazmat & Tanker Welding Fundamentals Clinical Medical Assistant Professional Truck Driver Professional Truck Driver Basic Peace Officer II, III, IV, V Combined Asset Forfeiture/am Combined Asset Forfeiture/pm Identity Crimes/pm session Identity Crimes/am session Professional Truck Driver Special Investigative Topics	Eagle Pass Eagle Pass Uvalde Uvalde Eagle Pass Uvalde Uvalde Eagle Pass Cotulla Uvalde Eagle Pass Hondo Eagle Pass Uvalde Uvalde	9 1 23 20 11 12 31 2 13 16 3 17 22 11 10 26 7 39	HOURS 160 4 16 4 160 16 465 4 117 310 160 620 4 4 4 160 8	1440 368 80 1760 192 14415 1521 4960 480 480 10540 1120 312

04/21/14	04/22/14	CJLE 2004	Tactical Skills less-than-lethal weap	Uvalde	30	16	480
04/23/14	04/23/14	CJLE 2000	Advance Human Trafficking	Uvalde	29	8	232
04/28/14	05/15/14	CVOP 1013	Professional Truck Driver	Eagle Pass	10	160	1600
05/07/14	05/07/14	PSYT 1035	Critical Incident Stress Mgmt. Tr.	Uvalde	37	8	296
05/06/14	05/06/14	EMSP 1020	CPR/LEA	Uvalde	1	8	8
05/08/14	05/08/14	CJLE 2011	Intermediate Police Rep. writing	Uvalde	7	8	56
05/09/14	05/09/14	CJLE 1042	State & Federal Law Updates/am	Uvalde	7	4	28
05/09/14	05/09/14	CJLE 1042	State & Federal Law Updates/pm	Uvalde	4	4	16
05/12/14	05/29/14	CVOP 1013	Professional Truck Driver	Eagle Pass	10	160	1600
05/19/14	06/01/14	FITT 1045	Lifeguard	Uvalde	12	48	576
05/19/14	06/01/14	EMSP 1026	CPR/Lifeguard	Uvalde	12	8	96
05/20/14	05/20/14		Sex Offender Registration/am	Uvalde	15	4	
05/20/14	05/20/14		Sex Offender Registration/pm	Uvalde	6	4	
05/26/14		CVOP 1013	Professional Truck Driver	Eagle Pass	6	160	960
QU	ARTER TO	TAL OF STU	DENTS, CONTACT HOURS AND RE	VENUE	530	3,136	45,998
							STDNT
Start	End				NO. OF	NO. OF	CONT
Date	Date	WECM #	COURSE	LOCATION	STDNTS		
06/03/14	07/24/14		Welding Fundamentals	Uvalde	5	117	585
06/09/14	06/26/14		Professional Truck Driver	Eagle Pass	7	160	1120
06/09/14	06/13/14	CJLE 2049	Basic Instructor Course	Uvalde	14	40	560
06/09/14	06/13/14	CJLE 2049	Basic Instructor Course	Uvalde	1	40	40
06/09/14	06/12/14		Cake Decorating Basics	Eagle Pass	6	12	72
06/10/14	08/01/14		Tsunami Swim Team (A)	Uvalde	10	48	
06/10/14	08/01/14		Tsunami Swim Team (B)	Uvalde	10	48	
06/16/14	07/17/14		Phlebotomy	Uvalde	1	104	104
06/17/14	06/19/14	CJSA 1006	Civil Process	Uvalde	20	24	480
06/18/14	06/18/14		CPR for Healthcare Provider	Uvalde	8	8	64
06/19/14	06/19/14		CPR for Healthcare Provider	Uvalde	5	8	40
06/23/14	07/10/14		Professional Truck Driver	Eagle Pass	11	160	1760
06/30/13	07/31/14	NURA 1001	Nurse Aide Training	Del Rio	3	130	390
		0)/05 1010	Learn to Swim-infant & toddler	Uvalde	10	48	4400
07/07/14	07/14/14		Professional Truck Driver	Eagle Pass	7	160	1120
07/14/14	07/14/14	CJLE 1010	TX Alcoholic Beverage Code	Uvalde	28	8	224
07/15/14	07/15/14	CJLE 1003	Police Speed Measuring device	Uvalde	12	8	96
07/21/14	08/07/14	CVOP 1013	Professional Truck Driver	Eagle Pass	7	160	1120
07/21/14	10/07/14		TSI-College Prep/Lang. Arts	Eagle Pass	1	190	
07/21/14	08/23/14 08/23/14		TSI-College Prep Course/Math	Eagle Pass	3	130	
07/21/14		EMCD 1010	TSI-College Prep/Math/proj. grow	Eagle Pass	10	130 8	90
07/26/14	07/26/14	EMSP 1019	CPR for Healthcare Provider TSI-College Prep Course/Math	Del Rio	10	34	80
07/28/14 07/28/14	08/15/14 08/15/14		9 !	Del Rio	1		
08/02/14	08/02/14	EMSP 1019	TSI-College Prep/Lang. Arts CPR for Healthcare Provider	Del Rio	1 19	60 8	152
08/04/14	01/25/15	MDCA1000	Clinical Medical Assistant	Eagle Pass		310	
08/04/14	01/25/15	MDCA1000	Clinical Medical Assistant/PG	Eagle Pass Eagle Pass	15 1	310	4650 310
08/04/14	08/21/15	CVOP 1013	Professional Truck Driver		5	160	800
08/04/14	08/21/15	CVOP 1013	TD/Refresher	Eagle Pass Eagle Pass	1	60	60
08/05/14	08/31/14	EMSP1001	Emergency Medical Tech/EMT	Eagle Pass	18	238	4284
		CJLE 2003	Interm. Child Abuse Prev. & Inv.				
08/11/14	08/13/14	OJLE 2003	interni. Chila Abuse Prev. & Inv.	Uvalde	29	24	696

08/11/14	08/19/14	NURA 2000	Nurse Aide/In-Service	Eagle Pass	7	24	168
08/18/14	09/04/14	CVOP 1013	Professional Truck Driver	Eagle Pass	7	160	1120
08/23/14	08/23/14	EMSP 1019	CPR for Healthcare Provider	Eagle Pass	17	8	136
08/25/14	12/12/14	NURA 1001	CNA/UISD (deferred revenue)	Uvalde	19	200	3800
08/25/14	12/12/14	NURA 1001	CNA/DISD (deferred revenue)	Dilley	11	200	2200
08/25/14	12/12/14	HPRS 1004	Health Prof./CISD (deferred revenue)	Crystal City	9	96	864
08/25/14	12/25/14	NURA 1001	CNA/CCISD (deferred revenue)	Crystal City	9	200	1800
08/25/14	12/12/14	NURA 1001	CNA/EPISD (deferred revenue)	Eagle Pass	27	180	4860
QU	ARTER TO	TAL OF STU	IDENTS, CONTACT HOURS AND RE	VENUE	376	4,013	33,755
YE	ARLY TO	TAL OF STU	DENTS, CONTACT HOURS AND REV	ENUE	1,608	12,598	131,159

Sept. 2014 - Aug. 2015

Start Date	End Date	WECM#	COURSE	LOCATION	NO. OF STNS	NO. OF HOURS	STDNT CONT HOURS
00/04/44		_	D: EP,UV,D,& CCISD	6		400	4.4.40
09/01/14	09/18/14	CVOP 1013	Professional Truck Driver	Eagle Pass	9	160	1440
09/02/14	12/18/14		Tsunami Swim Team	Uvalde	14	48	
09/08/14	09/10/14	HART 1053	Energy Conservation	Uvalde	12	32	384
09/08/14	11/14/14	LNWK 1091	Lineman Training	Uvalde	7	400	2800
09/11/14	09/11/14	CJLE 2027	Identity Theft	Uvalde	12	4	48
09/15/14	10/02/14	CVOP 1013	Professional Truck Driver	Eagle Pass	8	160	1280
09/15/14	10/02/14	CVOP 1013	TD/Refresher	Eagle Pass	1	60	60
09/15/14	09/15/14	CJLE 1042	State & Federal Law Updates/PM	Uvalde	12	4	48
09/15/14	09/15/14	CJLE 1042	State & Federal Law Updates/PM	Uvalde	1	4	4
09/17/14	09/18/14	CJLE 1056	Intermediate Use of Force	Uvalde	16	16	256
09/17/14	09/18/14	CJLE 1056	Intermediate Use of Force	Uvalde	1	16	16
09/20/14	09/20/14	CDEC 1051	Child Dev./Child Care Providers	Uvalde	94	7	658
09/22/14	09/24/14	CJSA 1001	Field Training Officer	Uvalde	1	24	24
09/22/14	09/24/14	CJSA 1001	Field Training Officer	Uvalde	15	24	360
09/27/14	09/27/14	CJLE 2000	Professional Dev: Police Science	Uvalde	13	8	104
09/29/14	10/16/14	CVOP 1013	Professional Truck Driver	Eagle Pass	9	160	1440
09/30/14	09/30/14		Racial Profiling	Uvalde	26	4	
10/13/14	10/30/14	CVOP 1013	Professional Truck Driver	Eagle Pass	8	160	1280
10/13/14	06/02/14	EMSP1001	EMT/DRISD	Del Rio	12	328	3936
10/13/14	10/16/14	CJLE 1045	Intermediate Crime Scene Investiga	Uvalde	22	32	704
10/20/14	12/10/14	NURA 1001	Nurse Aide Training	Eagle Pass	11	130	1430
10/27/14	11/13/14	CVOP 1013	Professional Truck Driver	Eagle Pass	8	160	1280
10/27/14	11/13/14	CVOP 1013	Driving Skills for Trans. Passengers	Eagle Pass	1	50	50
10/27/14	12/25/14	PLAB 1023	Phlebotomy	Eagle Pass	4	104	416
11/10/14	11/27/13	CVOP 1013	Professional Truck Driver	Eagle Pass	3	160	480
11/10/14	11/10/14	CJLE 1042	State & Federal Law Updates/AM	Uvalde	31	4	124
11/10/14	11/10/14	CJLE 1042	State & Federal Law Updates/AM	Uvalde	2	4	8
11/10/14	11/12/14	CJLE 1030	New Supervisor Course	Uvalde	12	20	240
11/15/14	11/15/14	CJLE 2000	First Responder Aircraft Accident	Uvalde	10	8	80
11/17/14	11/28/14	CVOP 1013	Lineman/Prof. Truck Driver	Eagle Pass	6	160	960
11/17/14	11/17/14	EMSP 1019	CPR for Healthcare Provider	Eagle Pass	2	8	16
11/24/14	12/11/14	CVOP 1013	Professional Truck Driver	Eagle Pass	6	160	960
Q	UARTER 1	OTAL OF STU	DENTS, CONTACT HOURS AND REV	ENUE	389	2,619	20,886
Start Date	End Date	WECM#	COURSE	LOCATION	NO. OF STNS	NO. OF HOURS	STDNT CONT HOURS
12/01/14	12/05/14	CJLE 2047-01	Tactical Skills for Police (SWAT)	Uvalde	38	60	2280
12/01/14	12/03/14	OULL 2047-01	Hazmat & Tanker	Eagle Pass	1	4	2200
12/10/14	12/09/14	CJLE 2031-02	Active Shooter Course	Uvalde	12	24	288
12/10/14	12/12/14	CJLE 2031-02 CJLE 2031-03	Active Shooter Course	Uvalde	1	24	24
12/10/14	12/12/14		Active Shooter Course Active Shooter Course	Uvalde	14	24	336
		CVOP 1013-09					
01/05/15			Professional Truck Driver CNA/CISD	Eagle Pass Cotulla	6	160	960
01/06/15		NURA 1001-02			9	200	1800
01/07/15	00/05/15	NURA 1001-01	CNA/UISD	Uvalde	10	200	2000

Sept. 2014 - Aug. 2015

01/19/15	02/05/15	CVOP 1013-10	Professional Truck Driver	Eagle Pass	9	160	1440
01/20/15	06/05/15	HPRS 1004-01	Health Profession/CISD	Crystal City	16	96	1536
01/20/15	06/05/15	NURA 1001-04	CNA/CCISD	Crystal City	10	200	2000
01/20/15	06/04/15	NURA 1001-03	CNA/PISD	Pearsall	12	200	2400
02/02/15	02/19/15	CVOP 1013-11	Professional Truck Driver	Eagle Pass	8	160	1280
Q	UARTER 1	TOTAL OF STU	DENTS, CONTACT HOURS AND REV	ENUE	146	1,512	16,344
Y	EARLY T	OTAL OF STUD	ENTS, CONTACT HOURS AND REVE	NUE	389	2,619	20,886